hexagon

In a

468 circl es

1
<

>

(< =<k >

3 < Sk

e o Sk (k)

ok {5k <

Sk Sk {5k

Sk ok {3k

Sk Sk {5k

sk Sk

‘ ; Sk ok <3k )
< P Sk (5 L P Sk o sk
=k =0k =(ok =(k =3k =3k )>
k() e Sk ke Sk
ok {5k <ok <k =

Sk ke e Sk

sk o Sk Sk {5k -

Sk ok {3k

Sk ok Sk S5k

Sk ok < 3k

S Sk Sk Sk 5k -

Sk Sk o Sk

(k< >k =< >k =<

(oK <{ ok =<k =<{ >k -
ok < >k <[ >k =<

ok <{ ok =<k =<k I
ok < >k <[ >k =<

ok <{ ok < >k <k I

{5k < ok < 3k <k <
ok <ok < ok <k =<k >
ok <{ ok <k =<{ >k =<
{5k < ok < ok =<k <k >
ok <{ ok <>k <k =<
{5k < ok < ok <>k <k >
ok <{ ok <3k =<k =<
<K =0k =0k =k <k >
<0k ==k =<0k =<3k =<
NG C

<0k =K =<k =<

<Ok =k =<k

<K =k <

<K =<
a

I~

<4

e

<K ==k >

>

=
<

e

1

5

1

5

S~

<

S~

<

1

<

1

1

1

5

1

5

1

= ok —={ >k =<k (> |
ok < ok <>k - <
ok {3k =< >k (> !

1

e

1

1

1

5

1

1

S~

<

1

<

1

1

1

5

1

5

S

<

<[ >

e

S~

D

S~

S

1

1

S

1

S~

1

1

1

Vi

0. 894345932896
1404

0. 039754001383 density =

25. 154700538356

radi us
ratio

[0 E. SPECHT &
D. A. PATERSON

15- DEC- 2020

contacts



